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Hehtetd gter - 11 (2015-2016)
SUMMATIVE ASSESSMENT — II
MATHEMATICS / ifuta

Class — IX / &haIT - IX

Fuifa g : 3 gue Ifereray 37ek : 90
Time allowed : 3 hours Maximum Marks : 90
amAr fdor :

(i) gsff g Itfrardd 21

(ii)

(iii)
(iv)

WIA ALY E, < s @ust o, &, @, S q & 9 T &1 @S- | 4 Y
g 598 9 1 3k 1 ¢, WUe-a H 6 U9 § 90 Y& & 2 3(eh §, @WUS-A H 8 YA §
S5 9% & 3 ek §, Wug-g H 10 W7 T 50 9&® & 4 3{ek € 91 @us-g § <6 e
T eRa 3-3 3fehi o 2 WTT AU 4 3Thi h1 1 TS

39 99 9 B i ot TEy faehey 7l B

Serapere 1 W affd 2

General Instructions :

(1)
(i)

All questions are compulsory.

The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

There is no overall choice.

Use of calculator is not permitted.

Eus-3{ / SECTION-A

TR EE 19 W UdE w Sk o

4 1

3T H, OAB T THag Ay § 1 af O 99 1 %= ©, A LACB &1 HIY F1d SIS |

(29

In the figure, OAB is an equilateral triangle. If O is the centre of the circle, find the measure of

ZACB.


www.tiwariacademy.com
www.tiwariacademy.com
www.tiwariacademy.com
www.tiwariacademy.com

C

B

Y,

2 Ife ek ST i 591 1 SA1e SR ST o1 QA Y T S, o SEehT ST 16 iy | 1

In a cylinder, if radius is halved and height is doubled, then find its volume.

3 T foenffali i Area o1 28 9 € 1 AfE ST IR T ST 2: 3 : 2 7, 1 SAR! A TG w1 1

The mean age of three students is 28 years. If the ratio of their agesis 2 : 3 :2, find their ages.

4 frefafaa sfeel o1 sgas A Hifeg : 1

14, 25,14, 28, 18,17, 18, 14, 23, 22, 14, 18.
Find out the mode from the following data :
14, 25,14, 28,18, 17,18, 14, 23, 22, 14, 18.

Eus-o / SECTION-B

9 &1 59 10 § YIS & 2 37k B

Question numbers 5 to 10 carry two marks each.

5 AABC T& 90aTg 39« €1 9eiedi BC 3R AB & #ea-foig o D iR E® 1 A BC=4em &, @1 2

ar (ABED) I <hITST |
A

B D 5
AABC is an equilateral triangle. D and E are mid-points of sides BC and AB respectively. If
BC= 4cm, find ar (ABED).

A

B D C

6 FO YT TR o TINT H, 45° o kI i LT hifSld | 2

Construct an angle of 45°, using compass and ruler.
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3Thfa H, ABCD U& 3T €, 8 /DBC=58°%1 /BAC ! U9 TTd SHIfSIT |
D C

©)

58°

A B
In the figure, ABCD is a rectangle with Z/DBC=58°. Find the measure of ZBAC.
D C

o

58°
A B

12 m S 3F THE! o IF & SMUR T GRIY 44 m 2, A SHHT ST A HIFTT |

The circumference of the base of a 12 m high wooden solid cone is 44 m. Find the volume.

T fesd H, 50 siee 311 150 T2 &1 fessl i 99 3 W, 98 T1d ge & 314 e ofR o) 78 W
ST el g2 §1 Afe TAH O Tk 9% Agfesd ®Y ¥ A S 8, 1 9okl WiidehdT T hifere fom o
ST T B

A box contains 50 bolts and 150 nuts. On checking the box, it was found that half of the bolts

and half of the nuts are rusted. If one item is chosen at random, find the probability that it is
rusted.

3 faeri =1 T 91 250 IR ISTAT AT 39 HT IOMH 3H YRR

S} ki TE&AT 0 1 2 3
AT 45 65 52 | 88
yiferehan A shifse fom

() e 9 sifyen 2 foa wrw =
(i) = foa e e
Three coins are tossed simultaneously 250 times with the following frequencies of different
outcomes :
Number of tails 0 1 2 3
Frequency 45 65 52 88
Compute the probability of getting :
(1) At most 2 heads
(if) All heads

EUS-H / SECTION-C

T3 &1 11 9 18 H Ycdeh o 3 3k & |

Question numbers 11 to 18 carry three marks each.
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1.3,2.1,18,23,2.2,1.5.
Find the median and mean of the given data :
1.3,2.1,18,2.3,2.2,15.

12 =il i T JEe | TH I R ARG 37 39 YRR E 3
17,2,7,25,25,5,14, 18,10, 24, 10, 8, 7, 10
3 ARl & ferq Are, wreAes 3IR Sgelsh 1 hifeig |
The points scored by a team in a series of matches are as follows :
17,2,7,25,25,5,14,18,10, 24,10, 8, 7,10
Find mean, median and mode for the data.

13 ADEF # EF &1 7ea-fdg P 3R DP &1 #eg-fig Q€| AfS ar (ADQF) =6 cm? &, Tl ar (AEQF) @ 3
SIS |

D

E P F

In ADEF, P is mid - point of EF and Q is mid - point of DP. If ar (ADQF)=6cm?, find ar

(AEQF).
Q
E P F
14 fag HINT fF T T THiR Igys T 279 B § | 3

Prove that a cyclic parallelogram is a rectangle.

15 Tk IS 1 T HIfS, fSraeht <1 e 1: 3 % o7qud § 39 YRR § T ST 3R 6 cm a0 76 3
= T 10T 120°

Construct a triangle whose two sides are in the ratio 1 : 3 such that their difference is 6 cm and
angle between them is 120°.

16 ABCD T ¥midt aq4s 8, f9¥ /D &1 Gufgusieh AB 1 P W HHfgHIfSId iar g1 <9ifsy f 3
CD=2AD?|
ABCD is a parallelogram in which the bisector of ZD bisects AB at P. Show that CD =2AD.
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17 IS ABC & &1 ®ifSY, S99 BC=4.5cm, /B =45° 3[R AB—AC=25cm 81 WA & 0 +ff 3
fafaw|

Construct a triangle ABC in which BC=4.5 cm, ZB = 45° and AB—AC=2.5 cm. Write steps
of construction.

18 T Y H Tk TRIF GFARA 12320 A em ¥ AR SR A 51 56 cm B, d STHRT S9E F@ 3
HITST |

The curved surface area of a cone is 12320 sq cm. if the radius of its base is 56 cm, find its
height.

Eus-q / SECTION-D

9T &1 19 T 28 H T % 4 3k © |

Question numbers 19 to 28 carry four marks each.

19 T a=i | ¥ Y31 T T fusdl gwe # 3% fehad s et & U <€ | W IRome 39 YeR 4

1,6,2,3,5,12,5,8,4, 8,

10,3,4,12,2,8,15,1,17, 6,

3,2,8,59,6,8,7,14,12

Tl SR 5 W IR TH A A HI 5-10 AR 37 SRS Hl Uk aWiohd THSRAT sie] RO

ERHEEIPSREERIRC e
fohda s=dil 4 T | 15 5 ¥ &y ¢l 2@ ?

Thirty children were asked about the number of hours they watched TV programs in the
previous week. The results were found as follows :

1,6,2,3,512,5,8,4,8,

10,3,4,12,2,8,15,1,17, 6,

3,2,8,596,8,7 14,12

Make a grouped frequency distribution table for this data, taking class width 5 and one of the
class intervals as 5-10. Also draw histogram.

(if) How many children watched television for 15 or more hours a week ?

20 fad & MNOP s ¥Hi®R =gys femmm T 1 MO W &E fig X T 4
RQ || MN iR BS || PM 81 21T f&F ar(PSXR) =ar(BNQX) T |

P/ S (@)
K Q
M B N

MNOP is a parallelogram as shown in figure. X is any point on MO. RQ|MN and BS||PM.
Show that ar(PSXR) = ar(BNQX).
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21 O, B, D 3R C U& gr=gy« & ¥ € a1 A, B, D 3R C %= O a1e! 9d W feeorq €, Sian o empfa & 4

T T 81 £/BOC, ZOBC, /BAC 3R /BDC I Hifsu |
A

BWC
D
O, B, D and C are the vertices of a rhombus and A, B, D and C lie on the circle with centre O,

as shown in the figure. Find ZBOC, ZOBC, ZBAC and ZBDC.
A

B\I/C
D

22 APQR &t T SIS, ST&lfh £/Q=90°, PR—PQ=3.1 cm 3 PQ=4.5cm B | 4
Construct a APQR, ZQ=90°, PR—PQ=3.1 cm and PQ=4.5cm.

23 ABCD T& 99ad 8, fS&H AB||CD, AB=15cm 3iRCD=10cm &1 X 4T AD w1 A=A-fagqIX 4
T BT, AB % GHIR XY ©i=H T8 B, ST BCH Y W faewd 1 XY & e 91 Hifae |

ABCD is a trapezium with AB||CD, AB=15 cm and CD=10 cm. X is the mid — point of the
side AD. Through X, XY is drawn parallel to AB to meet BC at Y. Find the length of XY.

24 e Toramerd o foanfef=i 4t quae fawrr o1 stefieR R 9eafd sl 9% i qen o1=s! fo@m 1 4
freea foman | erefiieTen STt <1 etex & fomnfefdl 3 wthct 1 | 3HT et 249.48 o HX B
(a) 38 AFNAHR AHfd H I H FAFAT FA  HiW I TR w1 @A
% 2 ufa ot He st W &, O GRS I AN T RIS |

(b)  foenfeil g0 6 w1 yoa <t T 2 (w=%wmﬁﬁ1)

To maintain beauty of a monument, the students of the school cleaned and painted the dome of the
monument. The monument is in the form of a hemisphere. From inside, it was white washed by the

students whose area is 249.48 m?.
(a) Find the volume of the air inside the dome. If white washing costs

Page 6 of 9


www.tiwariacademy.com

25

26

27

28

Page 7 of 9

32 per m2, how much does it costs.

(b) Which value is depicted by the students ? (Use w= 27—2 )

Teh 4 cm ST Sl B9 oh1 ST 1 cm YT o1l B9 SFE | 38 YohR & BT BH] skl HY0 T804
SA%E T hISIC | IS T IR B B o HYUl I &5l ohl STUId [1d FIfSIT |

A 4 cm edge cube is cut into small cubes each of edge 1 cm. Calculate the total surface area of
small cubes. Also find the ratio of total surface area of large cube to that of the small cubes.

g 1 T 10.5 m =9 3R 3 m I 16 Tk UF & SABR HT § 1 THHT AFT 9wt | AfE 1
m3 T1E FT HETZ 10 T, A FYUl FHHT F0 BT | 2R i TRST =8 ot a0 s

A heap of wheat is in the form of a cone whose diameter is 10.5 m and height is
3 m. Find its volume. If cost of 1 m3 wheat is T 10 then find total cost. Also find slant height of
heap.

Tk S0 1 5 TS &hal 154 cm? T 1 SeH 1 TYUl T &hdl, Ik TS &%l o faiAT 21
EEEIRC PRSI

The curved surface area of a cylinder is 154 cm?. The total surface area of the cylinder is three
times its curved surface area. Find the volume of the cylinder.

T B I, Goe KU S aret faf= esteeml @l wrw g A gwiien e e
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In a small town, the types of newspapers distributed in the morning are given below in the
graph :
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%E conomic Jimes -+

Jindustanrime
ndian-Expres

} Numberiof Familce

%;]I’Lim es-ofindi

Find the probability that the family chosen at random is taking both Hindustan times and
Economic times

Qus-4 / SECTION-E

(Hert 913/Open Text)

(g ghifvad = o fo Swedaa fam #) gaa Teaarit 36 RS & Wi e @)
(* Please ensure that open text of the given theme is supplied with this question paper.)
fara : 9RAG 9 redreEen ¥ gier
Theme : Childhood Obesity in India

29 e fommer 3 aeft faenforl s BMI = s 3R 359 A g3 foh 9 9ot % a=al @t we, 3
3TfYh oIS aTel S=al Rl STUeT 118 IO €1 T QI =R el ash gHieR fafen s amm goft
ol x A1 AU a5 a1 Wl y AN | FERT STere ot Tife |

A school made BMI chart of all the students and found that number of students who lie in
normal range are eight times the number of students who lie in overweight category. Write a
linear equation in two variables taking normal range as x and overweight as y. Also draw the
graph.

30 fig iR dm < weferat 7 frvaa foan i 9 wfafeT gehemse (v afeand) =40 @ 9 3
Tuieer W @1 g 3 wiafes 1 ser s 3R dwr 3 wfafed 60 fire e o fvem fham) g
e H € T SHERI & YA 9 39 % GRI SR T Shelll i Uiehferd sifele iR 3 He Gey
1 gk wHieRtT g1y it |

Ritu and Reema two friends decide to work out regularly to stay fit. Ritu decides to walk for
1 hour every day and Reema decides to run for about 60 minutes every day. Use the given
information from the open text to calculate the amount of calories burnt by both of them every
day and establish a relation between them in the form of a linear equation.

31 I8 e T ] TR e e w9, YR IRdTS S i STaT 47% e held wE St g1 4

Page 8 of 9


www.tiwariacademy.com

Page 9 of 9

(@) =Y foh v st g T Shedrl x € 3R wRE B gRI y &, Teh ek Feisnn IRy
ST fep ST < wear Hely e |

(b) S GHIRI Al G FRI TSRId HifsT |

(c) o1 38 W g1 Wefia Y et forg @ erdt €2

It is stated that by eating fast food one ends up taking 47% more calories than traditional

Indian food.

(@) Assuming the calorie intake by Indian food to be x and fast food to be y, frame a linear
equation establishing a linear equation between the two.

(b) Represent the above equation graphically.

() Does the line represented by the above equation pass through

origin ?
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